INSTALLATION & CONNECTIONS

IMPORTANT :
» Use quallfied electrician for proper assembly
and installation!
» Please read all instructions prior to installation.
» Installation of this fixture must comply
with local building codes.

ASSEMBLY INSTRUCTION

1.Carefully un-pack the fixture. Make sure all the parts are all take out from
the carton.

2.Spread the arms apart so that they are evenly spaced. If an arm becomes
loose, tighten the 1/8 hex nut.

3.Attach the 3 upper arms by slipping each arm through the hole on the plate
and then tightening each arm with the 1/8 hex nut and washer.

4. Turn the nipple into the hickey using caution not to go too far into the
hickey and cut through the wires. Use the 1/8 hex nut to tighten the nipple
to the hickey.

5.Putthe body over the nipple, making sure all wires are inside the body,
and secure it with 1/8 hex nut. Then put the decorative spring over the body
and tighten with the decorative ball nut.

6.Putthe lead wire through the center pipe, and tighten the center pipe to
the fixture.

7.Install the decorative leaves by making sure that the bottom of each leaf

goes through the rectangle holders near the bottom of the fixture.
(seefig2.)

MOUNTING INSTRUCTIONS

1.Turn off power at main fuse box.

2.Mount crossbar (A) to junction box with 2 screws supplied.(See Fig.1)
Make sure black and white wires of junction box run through the middle
opening of the crossbar.

3.Fasten ground wire to ground screw of junction box.

4.Connect black and white wires of power supply to black and white
wires of the pendant.
NOTE: All wire connections should be made with wire nuts or
marettes (included) and pushed back into junction box.

5.Mount back plate or canopy (B) over the 2 screws of crossbar (A).
Secure with 2 decorative knobs or caps(C).

BULB AND GLASS INSTALLATION

1.Un-screw the Socket Ring from socket. Slip glass over socket and
secure with Socket Ring by using TOOL provided.

2.Install Type B Bulb 40 Watts Recommended 60 Watts Max.
Bulb notincluded.

TI1-32304-2007/12/18 Page.1

ITEM NUMBER:#32304 INSTRUCTIONS

Electrical Danger Turn Power Off

All electrical components must be installed
1i d gelan | d

ya n wit
the National Electric Code and the appropriate
local electrical codes.

You will need 9 - Med.Bulb
40 Watts Recommended
60 Watts Max

Bulb notincluded.

TRIARCH INTERNATIONAL




I I MODEL#:32304 ASSEMBLY AND

CH INTERNATI

INSTRUCTIONS

ONAL

LEAD WIRE—>»

HANGING

-

Sl

TOOL

£

SOCKET
RING

N\ ROD

BOTTOM

ARMKIT

GROUND WIRE

HICKEY

NIPPLE

4 0
UPARM ASSEMBLY

PLATE

\

'

bl

gl

WASHER

NUT

ég% BODY
P

SPRING
L—»

PLUG LEAF
BETWEEN EACH
BOTTOMARM

Fig.2

\

TI-32304-2007/12/18 Page.2



